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No. 4 ¥ E(E G| B &
1|RNETED 1.00] = 2,176,120
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No. £ L5 | Z:| ¥OE|B 6 B & & i =
1 [RETED
R &4 1.00[ = 30,000 30,000
XHAEEXARS 1.00] X gk
XIHLGSTFithifl 52.00 m Gl |
X$PBiEY 5200 mi ik
E LGS Fihfl 96.00[ m 2,800 268,800
EHEPBIRY 96.00) m 1,800 172,800
RUY# 1.00] X 28,000 28,000
BI&EM 1.00] =& 25,000 25,000
EHR A B 1.00] = 30,000 30,000
EHHIORIEY 52.00] m dt
BEmYOREY 5200 m 1,800 93,600
YK 34.00] m 680 23,120
BIEM 1.00] = 30,000 30,000
EHRIRA B 1.00[ = 25,000 25,000
ROATZO7 52.00] mi Xk
R 2 1.00 =K Xk
FHELE 1.00] & 25,000 25,000
ELEf-RETER 1.00] X 80,000 80,000
fREAsRE R=Z54k 1500 & Xk
iRk vl 2500 m 6,200 155,000 |3 ZEHE
ARYrZMb 36.00) & 8,800 316,800 |XZEH
B LERIER BOST 1.00[ = 120,000 120,000
FEMYTITE 1.00] = 80,000 80,000
aVEURRAYFIE | ZHEBYEIVED 1.00] =% 80,000 80,000
HIERES 1.00] = 25,000 25,000
EHREA 1.00] = 25,000 25,000
REMULD R 1.00] =& 80,000 80,000
BIEELAIYY —=2T 1.00] & 35,000 35,000
EEY A (v oozvbo—h) [AOEER - - BBET 1.00f =X 68.000 68,000
= i T %% 1.00[ = 60,000 60,000
R 1.00] =& 300,000 300,000
ait 2,176,120
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No. £ o b | ¥ OE|\E | B & & ik
RETEQ
B REEME ERBAET 1.00] =& 52,000 52,000 | 3B 5
AORO—7&E4E 1.00f = 38,000 38,000 [3%:E 05>
ROVUEY 1.00 = 8,000 8,000
&5t 98,000
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